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( Total 420 Marks)
I-Vocabulary ( 50 Marks)

50
A) From a.b.c and d choose the most suitable word that best completes each of

the following sentences:(5 X5 =25 Marks)
1- Scientific theories are usually useless until they are ................. and made use of.
a) diminished b) alarmed c¢) implemented d) smuggled

2- The company invested KD 3000,000 to develop a game design ....................ee.

a) megawatt b) software ¢) loan d) attendant
o THE +obnonsessinin mvits s was so happy because all his trainees passed the final test.
a) instructor b) deadline ¢) insolence d) torso
4- My friends like to help the poor by volunteering in ...................... organizations.
a) hazardous b) well-sealed ¢) gold-coated d) philanthropic

5- My father started his own business after he had ......................... ...
a) re-loaded b) flashed c) retired d) bartered

B) Fill in the spaces with the most suitable words from the list below:( 5 X 5=25 Marks)

(appliances / success / actually / stunned / illegally / urgent)

6- Being so busy today, I have decided to receive only urgent calls.

7- Electrical appliances are highly affected by February sales in Kuwait.

8- Students who work hard usually experience success and achieve their goals.
9- The boy looked completely stunned the moment he entered the smart house.

10- The governments put strict rules against people who get into their country illegally.
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I1I- Grammar ( 40 Marks)

A) From a,b.c and d choose the correct answer that best completes each of the 40
following sentences: (4 X 5= 20 Marks )

11- My mother ......... her room redecorated by an engineer next week.
a) is having b) has had c¢) was having d) had
12- Why didn't you come to the party yesterday? I wish you .................
a) were attended  b) might attend c¢) had been attended  d) had attended
13- If I exceed the speed limit, [ .............cooiit. pay a large fine.
a) would b) would have to ¢) had to d) will have to
14- My classmate,........... father is an equestrian champion, lives in my neighbourhood.
a) who b) which c) whose d) where

B) Do as shown between brackets:(4x5=20 Marks)

[5- He didn't buy the villa. He is a very rich man. (Join using: although)
Although he is a very rich man, he didn't buy the villa.

He didn't buy the villa although he is a very rich man.

16- The girl bought a very beautiful necklace. (Change into passive)
A very beautiful necklace was bought (by the girl).

17-" 1 went to the dentist appointment yesterday." (Change into reported speech)
Ali said that he had gone/ went to the dentist appointment the day before/ the
previous day.

18- Children used to spend their leisure time playing outdoor games. (Make negative)
Children didn't use to / used not to/ never used to spend their leisure time playing

outdoor games.
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11I-Language Functions ( 40 Marks)
Write what you would say in the following situations: (4X 10 = 40 Marks)
19- Your friend asked you why your parents bought such an expensive car. 20

Expressing opinion / Stating advantages / Guessing

20- Your sister has just witnessed a theft while she was on her way home.
Asking for information/ Sharing personal experiences
21- Your father said that the government will allow teens aged 16 to have a driving licence.

Agreement/ Disagreement

22- Someone asks you about your future predictions of mobile phones.

Predicting

Any reasonable response is accepted

IV- Set Book ( 30 Marks)
Answer ONLY THREE of the following questions: (3x10=30 Marks )

30

23- We are facing the problem of wasting finite energy. How could you help to save energy?
I can save energy by going to school by bus. / Turning lights off when I leave.

24- Why is money considered a source of evil sometimes?
Because money spurs criminal behaviour. / Money may lead countries to war.

25- The Holy Quran is full of moral lessons. How?
The Holy Quran teaches us to respect and honour all people./ It teaches us not to be
arrogant with people but to be humble./ It teaches us justice and fairness.

26- Why do some women have become pilots recently?
Because they like the idea of being models to other women./ To achieve their goals

and fulfill their dreams.

Any reasonable answer is accepted
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V- Writing ( 100 Marks )

- g ; 100
Write on the following topic:
We all know that technology affects the way people communicate worldwide.
Plan and write an essay of 12 sentences ( 140 words) showing how technology affects
communication and how to raise people's awareness to use technology wisely.

Outline ( 20 Marks)
20
Introduction:
Body:
Paragraphl:
Paragraph2:
Conclusion:
Rubrics for Checking Writing
Exposition of Paragraphing and | spelling Grammar | Handwriting, spacing | Changing Total
ideas and number of and punctuation format
coherence sentences
40 10 10 10 10 -20 80

e 20 marks to be deducted from the total mark for changing the format.
e Off point topics / outlines receive ZERO.
e 5 marks to be deducted from the outline if the ideas are not used in the topic.
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VI- Reading Comprehension ( 80 Marks )

. . 80
Read the following passage carefully, then answer the questions below:

How many things can you see in the night sky? On a clear night you might see the Moon,
some planets and thousands of sparkling stars. You can see even more with a telescope. You
might see stars where before you only saw dark space. With bigger and bigger telescopes you
can see more and more objects in the sky. And you can see those objects in more and more
detail.

But scientists believe that there are some things in the sky that we will never see even with
the biggest telescope in the world. That is because they are invisible and mysterious. They
are dead stars which are called black holes. You might find it hard to imagine that stars die.
After all, our Sun is a star. Year after year we see it up in the sky, burning brightly, giving us
heat and light. The Sun certainly doesn't seem to be getting old or weak. But stars do burn out
and die after billions of years.

As a star's gases burn, they give off light and heat. But when the gas runs out, the star
stops burning and begins to die. As the star cools, the outer layers of the star pull in toward
the center. The star squashes into a smaller and smaller ball. If the star is very small, it ends
up as a cold, dark ball called a black dwarf. If the star is very big, it becomes lesser and lesser
until it's packed together tighter than anything else in the universe.

Imagine if the Earth were crushed until it was the size of a tiny marble. That's how tightly
this dead star, a black hole, is packed. What pulls the star in toward its center with such
power? It's the same force that pulls you down when you jump - the force called gravity. A
black hole is so tightly packed that its gravity sucks in everything even light. The light from a
black hole can never come back to your eyes. That's why you see nothing but blackness.

So the next time you stare up at the night sky, remember: there's more in the sky than meets
the eye!
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From a, b, ¢ and d, choose the correct answer: (8x10 = 80 Marks)

27- The best title for the passage is:

a- The Black Holes

b- The Burning Sun

c- The Force of Gravity
d- Modern Telescopes

28- What does the underlined word " mysterious " in paragraph (2) mean?

a- colourful
b- ordinary
c- huge

d- strange

29- What does the underlined word " it" in paragraph (3) refer to?

a- ball
b- star
c- center
d- dwarf

30- The black hole doesn’t reflect light because:

a- most black holes are very far from the earth.

b- the layers of a star are pulled outwards when it cools.
c- the gravity of the black hole pulls the light inside it.
d- the star is giving off heat and light when its gases burn.

31- According to paragraph ( 2 ), what are black holes?

a- They are very big stars in size.
b- They are invisible dead stars.

c- They are stars which give us heat and light. —
= a : et ndl B39
d- They are tiny stars which we can see with a telescope. / :
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32- How many things can you see in the night sky?
a- The moon, some planets, stars and black holes
b- The moon, some planets and thousands of stars
c- The sun, the moon, some planets, stars and black holes
d- The sun, the moon some planets and thousands of stars

33- Which of the following statements is NOT TRUE?
a- Black holes are invisible unlike other bright objects in the sky.
b- Black holes can be seen easily without using telescopes.
c- Black holes are dead stars that are pulled in towards the center.
d- Black holes become tighter than anything else in the universe.

34- The author's main purpose in writing this passage is to:
a- show how the sun gives heat and light.
b- show the importance of using modern telescopes.
c- make people aware of the unknown objects in the sky.
d- make scientists look for other ways to see stars in the sky.

VI1I- Summary Making ( 60 Marks )

60
Read the following passage, then do as required:

Harsh conditions in deserts, especially the lack of water, don't allow many living things
from living in these places. However, there are some annual plants, which through their
wonderful ways, have managed to survive these difficult conditions. One way is that they
usually depend on their extremely short, active life cycles. In events of sudden rain, the plant
seeds breed and grow very quickly to make full use of the rainwater. Then, their flowers

bloom and set seeds that grow quickly in the hot sun, too. In addition, such plants usually
have special means of storing water.
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In a paragraph of FOUR sentences Only, summarise and paraphrase the passage above
in answer to the following question: (4X15=60 Marks)

How do the annual plants survive harsh conditions in deserts?

Your paragraph must include FOUR of the following ideas:

e They survive through their extremely short and active life cycles.
¢ The plant seeds breed and grow quickly to make use of the rainwater.
e Their flowers bloom and set seeds that grow quickly in the hot sun.

e Such plants usually store water to survive.

Rubrics for Checking Summary Making

Content / relevance of Paraphrasing Spelling and Paragraph format Total f

ideas grammar
30 20 5 5 60

Rubrics

e Copying the whole paragraph receives ZERO.

e Exceeding the required number of sentences ( Minus 5 marks for one sentence- Minus 10 for
two sentences and above )

VIII- Translation ( 20 Marks )

Translate the following into good English: ( 2X10=20 Marks ) 20
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Ahmed: What are these stacks/ piles of books? The place is dreadful/ awful.
Ali : Although I called the company twice, they didn't come to pick them up.
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